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T JUiEE(NL model & LTT)

Vo =€,+0,x(FTERH)+0;x(BHR)+0,x (777 XiEE#)+0,x (-1 L XiEH#)
V§@$=€2+91X(Fﬁgﬂ%ﬁﬁ)+93x(§ﬁﬁ)

Viz =&3+0;x(FERE)+0,x(BR)+0,x (770X iEH)+0-.x (1T L X iEHk)
Vesszes = €40, X (FTEKFH)

Vs =0, x (FTEFRE)

Vigsompns = 0 X (LFEHINNS BRI T ODREEE) +0., x (B EED DB L FT AL/ T8 +

Og X (P EHF(E])
Vezmxas =0 € €, € £, EHIA
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E NSX—%5 tiE HE LR S

8K - BEhEE - JCAFTERSRI(10/49)) -0.247 -1.49 R Y =)
e - EERERFREERSR(10/%) -0.208 -4.50 ** o — pore
- (10/79) JNSA—LH DR

#H(1000/M) 1.956 -1.84 * DR A (LU
7471 Z g5k (km) 1.227 -2.84 ** X
4’)‘1/7\EE%'E(km) -0.611 -1.59

Train 1.765 3.76 **

B -0.753 -1.55
FROXEOESE

Car -0.981 -3.56 **

bike -0.978 -3.77 **

Train 2.289 3.92 *x*

B -12.314 -0.07
SERREMOEEE

Car 0.028 0.11
R R Bl

’EJ\I:I COrEH m -U. -3.4 O \\10)/-4‘-#

ﬁ%ﬁi_CODEE%—E(km) 0.012 0.62 (j: b b EB W
5%@@@%%?&%5(/@%() 0.417 4.86 **
AT—)V)\SA—4 0.444 1.79 *
AELE 0.202 . —
IEIE R TER 0.175 AELE>EI0L

7K
H> )L 309 IEE AUaE D




\/l

KR>=a1L—>3>
o KR =aL —>3>&UTEE - /K‘ZGDTU‘EZ

5 & 7D L R Z R S B 2 iZE DB FERD
Zb7x R 3

IBUSRAY BloRi%
SEHES]
JXX
H¥nEE

L_/I%H:uai Db\d’_ 5 L__“é“(/\CN L/t’:



